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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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1. Define the term Industrial Relations. Explain the nature and scope of the Industrial

relations.

OR
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Explain the parties to Industriat Relations and the pattern of interaction between
them. (15)
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2. Define Industrial disputes. What are the causes of labour unrest in India ?
OR

Why do Industrial disputes arise ? How can such disputes can be settled ?
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3. Explain the machinery for the prevention of Industrial disputes in India.
OR

What are the different types of Strikes ? Distinguish between Strikes and
Lockouts. A (15)
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4. Discuss the concept and significance of voluntary arbitration in the settlement of

Industrial disputes. What are reasons of its failure in India ? (15)
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Write short notes on the following -
(i) Labour Court
(ii) Industrial Tribunal

(il) National Tribunal
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5.  Write short notes on a;ly 3 of the following :-
(i) Adjudication
(ii) Conciliation
(iii) Objectives of Industrial Relations
(iv) Employers
(v) Employees
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